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ERERTEMBNEEN KRR EMREM SN XE. X EEEE
(3R ) 2 P R B AR A L R, R EXEBEFEXNXELEH
TR RSO ERMEE S, WEEEE BRI T,

1. What is the passage mainly about?

2. The main idea of the passage is

3. The passage mainly/chiefly deals with/discusses __

4. What is the author’s purpose in writing this passage?

5. What is the best title of the passage?

6. This passage/paragraph chiefly focuseson_____ .
EXREENBEATEREN EEG), BEEMEAEEER,
NERABRMBENAR—F: EXZHERT, BRXEHHEHE
BE. B RE B, WAEEFITRLMEER S BTRER
F—8, WEXM—NEYE. RERELER -BAENEENBHE



205 0 0 i Bt i b D

£ N

EXXEAMEBITIER. EdREBRNBER. BESEENBRRX
TR R B A — BB BB, B S A Y i
HOE R X B Y 3 B ) AR AT AE R A 42 SCHK 0 JB AR

1

In the 1960s, medical researchers Thomas Holmes and Richard Rahe
developed a checklist of stressful events. They appreciated the tricky point
that any major change can be stressful. Negative events like “serious
illness of a family member” were high on the list, but so were some
positive life-changing events, like marriage. When you take the Holmes-
Rahe test you must remember that the score does not reflect how you deal
with stress—it only shows how much you have to deal with. And we now
know that the way you handle these events dramatically affects your

chances of staying healthy.

The result of Holmes-Rahe’s medical research tells us

A) the way you handle major events may cause stress

B) what should be done to avoid stress

C) what kind of event would cause stress

D) how to cope with sudden changes in life

(CRFEFENLHR 2002 4 6 AL ERE)

KGR EB M. A CXF Holmes-Rahe LoFRIA L K HoAth A
SR R0 B 7 B SR R A T VTR o T IR A A (R ik A
t Holmes-Rahe F{EE AR R RE R AT T4 . RENEFEU L
Bk (B—BO, MARE HMIIMHARGREFIH T 508 E S
f#fE, HhaFEEREs (R ANRE), haERRHES (ng
%), B C).

#2

Americans are proud of their variety and individuality, yet they love

and respect few things more than a uniform, whether it is the uniform of
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an elevator operator or the uniform of a five-star general. Why are
uniforms so popular in the United States?

Among the arguments for uniforms, one of the first is that in the eyes
of the most people they look more professional than civilian (H #))
clothes. People have become conditioned to expect superior quality from a
man who wears a uniform. The television repairman who wears a uniform
tends to inspire more trust than one who appears in civilian clothes. Faith
in the skill of a garage mechanic is increased by a uniform. What easier
way is there for a nurse, a policeman, a barber, or a waiter to lose
professional identity (£t #1) than to step out of uniform?

Uniforms also have many practical benefits. They save on other
clothes. They save on laundry bills. They are tax-deductible (7] JBLHY).
They are often more comfortable and more durable than civilian clothes.

Primary among the arguments against uniforms is their lack of
variety and the consequent loss of individuality experienced by people
who must wear them. Though there are many types of uniforms, the
wearer of any particular type is generally stuck with it, without change,
until retirement. When people look alike, they tend to think, speak, and
act similarly, on the job at least.

Uniforms also give rise to some practical problems. Though they are
long-lasting, often their initial expense is greater than the cost of civilian
clothes. Some uniforms are also expensive to maintain, requiring
professional dry cleaning rather than the home laundering possible with

many types of civilian clothes.

The best title for this passage would be
A) Uniforms and Society
B) The Importance of Wearing a Uniform

C) Practical Benefits of Wearing a Uniform

7]

BANNTBN
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D) Advantages and Disadvantages of Uniforms
(RF B MK %R 2000 4 6 AL HiRE)
RE-ERAN TS KEE. &0 A). B), OFBHIBRT XE
MAE. B—BRE MR GRRIRE T ARCAHEHE K H 8-
At AKEANE Y EIR? fE A B S — 358 & B E 4,
M EBA T LAE L, EEMORE T MIHBEHNEE, EF
MEFHRKEFAE (RT=B, T HE KRB THR KW A, A K5 RS
ZAMRAZL JERBD. B, REEE DA fREECEnER,
AEERRMBOCERBEE .

2. fEEBMAE
SEEFEMHHEEMARAL, SeEEORAe. BRMS
5t R ) R R R R P B A AR Y D) R 49 SO AR R T R £
EENNFEN FY). FERREREE. XEREELEHRIFHOHA
M. HEELRE HTEXT R OSCEMMER EE N A B RIS, XKEH
R TRA:
1. What is the author’s attitude towards ...?
2. What is the author’s opinion of ...?
3. The author appears to feel that
4. Which of the following does the author want to illustrate in
discussing ..
5. The author’s main purpose of writing this passage is
6. What is the tone of the passage?
FIEXRBEEABEEHEIRPERELEZSNN L. BRAE
. TMERANRERNRE, HEZHRNE. SENRE, —
ARBATHT LURSE N SCE b — L85, Bl BRA— R
——HIEHE I RIBEBERES . A, EERXM WS
BEAEMEIH AT SAHXEE, BT ERKIE 2B E S QR
REZAm e E R, RERERE.
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Unless we spend money to spot and prevent asteroids (/NT &) now,
one might crash into Earth and destroy life as we know it, say some
scientists.

Asteroids are bigger versions of the meteoroids (Ji£) that race
across the night sky. Most orbit the sun far from Earth and don’t threaten
us. But there are also thousands of asteroids whose orbits put them on a
collision course with Earth.

Buy $50 million worth of new telescopes right now. Then spend $10
million a year for the next 25 years to locate most of the space rocks. By
the time we spot a fatal one, the scientists say, we’ll have a way to change
its course.

Some scientists favor pushing asteroids off course with nuclear
weapons. But the cost wouldn’t be cheap.

Is it worth it? Two things experts consider when judging any risk are:
1) How likely the event is; and 2) How bad the consequences if the event
occurs. Experts think an asteroid big enough to destroy lots of life might
strike Earth once every 500,000 years. Sounds pretty rare—but if one did
fall, it would be the end of the world. “If we don’t take care of these big
. asteroids, they’ll take care of us,” says one scientist. “It’s that simple.”

The cure, though, might be worse than the disease. Do we really
want fleets of nuclear weapons sitting around on Earth? “The world has
less to fear from doomsday (3% 'K £ #]) rocks than from a great unclear

fleet set against them,” said a New York Times article.

Which of the following best describes the author’s tone in this
passage?

A) Optimistic. C) Objective.

B) Critical. D) Arbitrary.

BEANTZBN
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EHSIH T —EREFRURRPILEHR A EXMTIENA
BHATTHH. AR, EHEREWH . AR HS R A FBIE,
MBS 8 a5 15 U A SR & . A WA SO — R X S S 1
DL EMIRIE, FEHEESEFWN, Ff CWMER.

(REFFEIHER 2000 £ 1 HEHRHE)

2

Some pessimistic experts feel that the automobile is bound to fall
into disuse. They see a day in the not-too-distant future when all autos
will be abandoned and allowed to rust. Other authi)rities, however, think
the auto is here to stay. They hold that the car will remain a leading means
of urban travel in the foreseeable future.

The motorcar will undoubtedly change significantly over the next 30
years. It should become smaller, safer, and more economical, and should
not be powered by the gasoline engine. The car of the future should be far
more pollution-free than present types. |

Regardless of its power source, the auto in the future will still be the
main problem in urban traffic congestion (##%). One proposed solution
to this problem is the automated highway system.

When the auto enters the highway system, a retractable (F]{H45H])
arm will drop from the auto and make contact with a rail, which is similar
to those powering subway trains electrically. Once attached to the rail, the
car will become electrically powered from the system, and control of the
vehicle will pass to a central computer. The computer will then monitor all
of the car’s movements. -

The driver will use a telephone to dial instructions about his
destination into the system. The computer will calculate the best route,
and reserve space for the car all the way to the correct exit from the
highway. The driver will then be free to relax and wait for the buzzer (¥

n92%) that will warn him of his coming exit. It is estimated that an
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automated highway will be able to handle 10,000 vehicles per hour,
compared with the 1,500 to 2,000 vehicles that can be carried by a
present-day highway.

What is the author’s attitude toward the future of autos?

A) Enthusiastic. C) Optimistic.

B) Pessimistic. D) Cautious.

(REFBENZER 2002 4 1 ALHRH)
X EEE A, M —BRAEIAE however BATEET LLE
W, FHFFHRRS pessimistic experts F R KM A, M5 other
authorities #¢AHFIFIM AL, AN the auto is here to stay ELJ the car will
remain a leading means of urban travel in the foreseeable future. 7E# F
ERBIED, EE R AR T R R G- M M A B 2B R4
IELFER. REFEEEE TS RRERBNEN, HEXMAELRE
BB R M K RE: It should become smaller, safer, and more
economical, and should not be powered by the gasoline engine. The car of
the future should be far more pollution-free than present types. M43k
B, MFENRKRAENRBERFFUSER, HREEHEEREN C).

3. AWRIEE
ATHHEBRRELERERCENDOLEM, RINBAESE
XEFIFREFOLBBEROTLIOMT. —REFLT, EESEX

EH5IHER, SomRE, b EYZENXRS, DBIEED
MR s, HRURALERBENTXERP. —FRERKHLE F
MEEHLRM T, X5 who, when, where, which B, why 3.
Fitn:

1. Why does the author mention ...?

2. Which of the following best characterizes the main feature of ...?

3. What time does the author think is ...?

BAENZEBR
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4. Where in the passage does the author describe ...?

5. He successfully got his Master Degree by __ .

6. Children in the usual classroom learn very quickly when

5 R B ERPHAE — NP RERR L, — e
HE. X4 FERASRE. Flu:

1. According to the passage, which of the following is true/
mentioned/discussed?

2. According to the passage, which of the following is NOT
true/mentioned/discussed?

3. Which of the following is NOT a result of ...?

4. The author states all of the items listed EXCEPT ___ .

5. The author mentions all of the following EXCEPT ____ .

6. All of the following may be ... EXCEPT __ .

AT IEMBIEXRE B, NXE R & P 5L 7 500
T, BURAGEMBBIERME. EliE4e3. ¥RIXFDOBHEME
fit b, MRAZEELEBRFHAEENE, AHEMLRM A, REHBER
AT, EXETRIANOIZOMAT, PEHBERMRE, A
[k A2 EIE-=31F 18

M1

Brazil has become one of the developing world’s greatest
successes at reducing population growth—but more by accident than
design. While countries such as India have made joint efforts to reduce
birth rates, Brazil has had better result without really trying, says

George Martine at Harvard.

According to the passage, Brazil has cut back its population
growth ’
A) by educating its citizens

B) by careful family planning
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C) by developing TV programmes
D) by chance
(K¥EHEENE %R 1999 & 6 HEHRH)

RAE, ZE-EMWEREE, ABEXFRUEARD ALK
FRENA ., XEME-AERRICAREAOMKKBRIIES K2
BRTAREIHFH .. i%A)F K by accident 5T D)F [ by chance
R, #FRR “HTER”, EHikiED).

"2

Visual cues can help prevent absent-minders, say Schacter. “But be
sure the cue is clear and available,” he cautions. If you want to remember
to take a medication (#j#]) with lunch, put the pill bottle on the kitchen
table—don’t leave it in the medicine chest and write ourselves a note that

you keep in a pocket.

A note in the pocket can hardly serve as a reminder because

A) it will easily get lost

B) it’s not clear enough for you to read

C) it’s out of your sight

D) it might get mixed up with other things

(KR¥FENEHR 2002 4 6 HEHRE)

ZBR B MR R AT AF BB S RN, mRAEREZA,
RS BAELEEA. Bit, BREDRKRERELCRALZIRFIEN,
EACERFLZI. ERERLC). '

4. AWiREE

HHEEREN I ERZER B XETSTEE, FHENER
hEZBTRMENZEURELZRNA. SEEERSETSE
E, UXBEFAEERIKTELNEE AR, TEEHN. #H
F—E WK RIEH A



